Transportation choice model
In consideration of the influence of the accompanying persons
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Nested Logit €7 /U

Accompanying person /I\

O person 4 or more

persons persons
transportation

walk || car || bike || train || bus
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transportation /I\

walk || car || bike || train || bus
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=V, + &, =d,(time) + f (cost) + S, (over 2 accompanies dummy) +b, + &
=V, + ¢, =d,(time) + f,(cost) + S, (over 2 accompanies dummy) +b, + &,

U., =V;+¢&, =d,(time)+ f,(cost)+ S, (over 2 accompanies dummy) +b, + &,
Up. =V, +¢&,=d,(time)+ f,(cost)+ g, (over 2 accompanies dummy)+b, + ¢,

U

walk

=V, + ¢, =d.(time) + f. (cost) + S, (over 2 accompanies dummy) +b; + &;
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E #1E (train) 0.2268776 1.0879039
E #1E(bus) -1.3530632 -4.4261574**
E ¥ (car) -1.9898743 -10.400703**
£ #18 (bike) -1.507311 -9.8315238**
BithE O ERR -5.2941184 -8.8488358**
BEIOAK -0.1250876 -3.4286809**
B2 ALl 4 =—(train) -0.7098595 -1.207727
B2 AL EA4s—(bus) -1.7999903 -0.7742331
B{E2 A LLE 4 S—(car) 1.429522 4.0446944 **
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